

(10)

$$\Sigma_+(0) = \Sigma_+(\lambda, r), \text{ where } \lambda = (\lambda_1, \lambda_2)$$

$$L_n(x, r) = \frac{1}{n} \sum_{i=1}^n \Sigma_+^2(\lambda, r)$$

$$G(u) = E J(V_0 < u \leq V_0 + u)$$

Given any  $\varepsilon > 0$ ,  $\exists$  a  $\delta > 0$  s.t.

$$P(|n(\hat{r}_n - r_0)| \geq \beta)$$

$$\leq P(|n(\hat{r}_n - r_0)| \geq \beta, \| \hat{\lambda}_n - \lambda_0 \| \leq \delta) + \frac{\varepsilon}{2}.$$

$$P(|n(\hat{r}_n - r_0)| \geq \beta, \| \hat{\lambda}_n - \lambda_0 \| \leq \delta)$$

$$= P(|\hat{r}_n - r_0| \geq \beta, \| \hat{\lambda}_n - \lambda_0 \| \leq \delta, G(|\hat{r}_n - r_0|) \geq G(\beta))$$

$$= P(|\hat{r}_n - r_0| \geq \beta, \| \hat{\lambda}_n - \lambda_0 \| \leq \delta, G(|\hat{r}_n - r_0|) \geq G(\beta))$$

$$\leq P\left[ \frac{|\hat{r}_n - r_0|}{|r - r_0|} \geq \beta, \frac{L_n(x, r) - L_n(\lambda, r_0)}{G(|r - r_0|)} \geq \delta \right]$$

$$\| \lambda - \lambda_0 \| \leq \delta$$

$$L_n(x, r) - L_n(\lambda, r_0)$$

$$|\hat{r}_n - r_0|$$

$$P$$

$$|\hat{r}_n - r_0| \geq \beta$$

$$\| \lambda - \lambda_0 \| \leq \delta$$

$$G(|r - r_0|)$$

$$\text{for } \forall \delta > 0.$$

$$\Sigma_t(\lambda, r) - \Sigma_t(\lambda, r_0) \quad [r > r_0] \quad (11)$$

$$= y_t - \phi_1 y_{t-1} \mathbb{I}(y_{t-1} > r) - \phi_2 y_{t-1} \mathbb{I}(y_{t-1} > r) \\ - [\phi_1 y_{t-1} \mathbb{I}(y_{t-1} > r_0) - \phi_2 y_{t-1} \mathbb{I}(y_{t-1} > r_0)] \\ = -\phi_1 y_{t-1} \mathbb{I}(r_0 < y_{t-1} \leq r) + \phi_2 y_{t-1} \mathbb{I}(r_0 < y_{t-1} \leq r) \\ = (\phi_2 - \phi_1) y_{t-1} \mathbb{I}(r_0 < y_{t-1} \leq r)$$

$$L_n(\lambda, r) - L_n(\lambda, r_0)$$

$$= \frac{1}{n} \sum_{t=1}^n [\Sigma_t^2(\lambda, r) - \Sigma_t^2(\lambda, r_0)]$$

$$= \frac{1}{n} \sum_{t=1}^n \left[ \left[ \Sigma_t(\lambda, r) - \Sigma_t(\lambda, r_0) \right]^2 \right. \\ \left. + 2 \left[ \Sigma_t(\lambda, r) - \Sigma_t(\lambda, r_0) \right] \Sigma_t(\lambda, r_0) \right]$$

$$= \frac{1}{n} \sum_{t=1}^n (\phi_2 - \phi_1)^2 y_{t-1}^2 \mathbb{I}(r_0 < y_{t-1} \leq r)$$

$$+ \frac{2}{n} \sum_{t=1}^n (\phi_2 - \phi_1) y_{t-1} \mathbb{I}(r_0 < y_{t-1} \leq r) \Sigma_t(\lambda, r_0)$$

$$\mathbb{I}(r_0 < y_{t-1} \leq r) \Sigma_t(\lambda, r_0)$$

$$= \mathbb{I}(r_0 < y_{t-1} \leq r) \left[ \Sigma_t + \phi_{10} y_{t-1} \mathbb{I}(y_{t-1} > r_0) + \phi_{20} y_{t-1} \mathbb{I}(y_{t-1} \leq r_0) \right. \\ \left. - \phi_1 y_{t-1} \mathbb{I}(y_{t-1} > r_0) - \phi_2 y_{t-1} \mathbb{I}(y_{t-1} \leq r_0) \right]$$

$$= \mathbb{I}(r_0 < y_{t-1} \leq r) \Sigma_t + (\phi_{20} - \phi_2) y_{t-1} \mathbb{I}(r_0 \leq y_{t-1} \leq r)$$

(12)

$$L_n(\lambda, \nu) - L_n(x, \nu_0)$$

$$= \frac{1}{n} \sum_{i=1}^n (t_2 - t_1)^2 y_{t_1}^2 \mathbb{I}(t_0 < y_{t_1} \leq r)$$

$$+ \frac{2(t_2 - t_1)}{n} \sum_{i=1}^n y_{t_1} \mathbb{I}(t_0 < y_{t_1} \leq r)$$

$$+ \frac{2(t_2 - t_1)(t_2 - t_1)}{n} \sum_{i=1}^n y_{t_1}^2 \mathbb{I}(t_0 \leq y_{t_1} \leq r)$$

$$= \cancel{(t_2 - t_1)} G_{1,n} +$$

$$= [(t_2 - t_1)^2 + 2(t_2 - t_1)(t_2 - t_2)] G_{1,n}^{\Delta}(r)$$

$$+ 2(t_2 - t_1) G_{2,n}(r),$$

$$\text{Where } G_{1,n}^{\Delta}(r) = \frac{1}{n} \sum_{i=1}^n y_{t_1}^2 \mathbb{I}(t_0 \leq y_{t_1} \leq r)$$

$$G_{2,n}^{(r)} = \frac{1}{n} \sum_{i=1}^n y_{t_1} \mathbb{I}(t_0 \leq y_{t_1} \leq r)$$

$$\text{Or } \delta_X = \|X - x_0\| \leq \delta,$$

$$(t_2 - t_1)^2 + 2(t_2 - t_1)(t_2 - t_1) \longrightarrow (t_2 - t_1)^2 \leq C > 0$$

$$|t_2 - t_1| \longrightarrow |t_2 - t_1| = \sqrt{C}.$$

Thus when  $\delta$  is small enough,

$$L_n(x, r) - L_n(x, r_0)$$

$$\geq \frac{1}{2} c |G_{1n}^{(r)} - 2\sqrt{c} |G_{2n}^{(r)}|$$

$$\geq \frac{1}{2} c r^2 |G_{1n}^{(r)}| - 2\sqrt{c} |G_{2n}^{(r)}|, \quad (\text{when } r_0 \neq 0)$$

where  $G_{1n}^{(r)} = \frac{1}{n} \sum_{j=1}^n \mathbb{I}(0 \leq y_j \leq r)$

Thus, we can take  $\delta$  small enough,

$$\inf_{n|r-r_0|>\delta} \frac{L_n(x, r) - L_n(x, r_0)}{G(|r-r_0|)} \\ ||x-r_0|| \leq \delta$$

$$\geq \frac{c r_0^2}{2} \inf_{n|r-r_0|>\delta} \frac{G_{1n}(r)}{G(|r-r_0|)} - \sqrt{c} \sup_{n|r-r_0|>\delta} \left| \frac{G_{2n}(r)}{G(|r-r_0|)} \right|$$

$$\geq \frac{c r_0^2}{2} - \frac{c r_0^2 m_{av}}{2} \left| \frac{G_{1n}(r)}{G(|r-r_0|)} - 1 \right|$$

$$- \sqrt{c} \sup_{n|r-r_0|>\delta} \left| \frac{G_{2n}(r)}{G(|r-r_0|)} \right|$$

(13)  $\left( \frac{G_{1n}(r_0)}{G(r_0)} \rightarrow 1 \right) ?$   
 ~~$\frac{2\sqrt{c} r_0^2 \mathbb{I}(r_0 \leq y_j \leq r_0 + \delta)}$~~

(14)

We only need to prove that

for  $\forall \varepsilon > 0, \eta > 0, \exists B$  s.t.

$$P\left(\sup_{n(r-r_0)/2R} \left| \frac{G_{1,n}(r) - G_1(r-r_0)}{G_1(r-r_0)} \right| > \varepsilon\right) < \eta \quad (11)$$

and

$$P\left(\sup_{n(r-r_0)/2R} \left| \frac{G_{2,n}(r)}{G_1(r-r_0)} \right| > \varepsilon\right) < \eta \quad (12)$$

as  $n \rightarrow \infty$ .

To be simple, Assume that  $r_0 = 0$  and

$G(x) = x$  and consider the case with  $r > 0$ .

$$Q = P\left(\frac{Q}{n} \leq R \leq \delta \left| \frac{1}{n G(r)} \sum_{i=1}^n \mathbb{I}(0 < Y_{t_i} \leq r) - 1 \right| > \varepsilon\right)$$

$$y = \frac{R}{n} = P\left(\sup_{1 \leq y \leq \frac{R}{n}} \left| \frac{1}{n G(\frac{yR}{n})} \sum_{i=1}^n \mathbb{I}(0 < Y_{t_i} \leq \frac{yR}{n}) - 1 \right| > \varepsilon\right)$$

$$\leq P\left(\sup_{i \in N} b_i \leq y \leq b_{i+1} \left| \frac{1}{n G(\frac{yR}{n})} \sum_{i=1}^n \mathbb{I}(0 < Y_{t_i} \leq \frac{yR}{n}) - 1 \right| > \varepsilon\right)$$

$$\leq \sum_{i=0}^{\infty} P \left( \sup_{b^i \leq y \leq b^{i+1}} \left| \frac{1}{h G(\frac{y}{b})} \sum_{T=1}^n (0 < Y_{T-1} \leq \frac{y}{b}) - 1 \right| > \varepsilon \right) \quad (15)$$

For  $b > 0 < x < y < xb$ , with

$$\left| \frac{G_{1n}(x)}{G(x)} - 1 \right| < \eta_0 \quad \text{and} \quad \left| \frac{G_n(bx)}{G(bx)} - 1 \right| < \eta_0.$$

$$\frac{G_{1n}(y)}{G(y)} - 1 = \frac{b G_n(y)}{b y} - 1 \leq b \left[ \frac{G_n(bx)}{bx} \right] - 1 \leq b (\eta_0 + 1) - 1$$

$$\frac{G_{1n}(y)}{G(y)} - 1 \geq \frac{G_n(x)}{bx} - 1 \geq (1 - \eta_0) b^{-1} - 1.$$

Take  $b > 1$  and a small  $\eta_0$  s.t.

$$\min \{ (1 - (1 - \eta_0) b)^{-1}, b (\eta_0 + 1)^{-1} \} < \eta.$$

When  $0 < x < y < bx$ ,

$$\text{Thus,} \quad \sup_{x < y \leq bx} \left| \frac{G_{1n}(y)}{G(y)} - 1 \right| < \eta.$$

Thus, when  $0 < x < y < bx$ ,

(16)

$$\left\{ \left| \frac{G_{1n}(y)}{G(y)} - 1 \right| \geq \eta \right\}$$

$$\subseteq \left\{ \left| \frac{G_{1n}(x)}{G(x)} - 1 \right| \geq \eta_0 \right\} \cup \left\{ \left| \frac{G_{1n}(hx)}{G(hx)} - 1 \right| \geq \eta_0 \right\}$$

$$P\left\{ \sup_{b^i < y \leq b^{i+1}} \left| \frac{G_{1n}\left(\frac{y}{r}\right)}{G\left(\frac{y}{r}\right)} - 1 \right| \geq \varepsilon \right\}$$

$$\leq P\left( \left| \frac{G_{1n}\left(\frac{b^{i\beta}}{r}\right)}{G\left(\frac{b^{i\beta}}{r}\right)} - 1 \right| \geq \varepsilon \right)$$

$$+ P\left( \left| \frac{G_{1n}\left(\frac{b^{i+1\beta}}{r}\right)}{G\left(\frac{b^{i+1\beta}}{r}\right)} - 1 \right| \geq \varepsilon \right)$$

Thus ① + ③,

$$① \leq P\left( \left| \frac{G_{1n}\left(\frac{1}{r}\right)}{G\left(\frac{1}{r}\right)} - 1 \right| \geq \varepsilon \right)$$

$$+ 2 \sum_{i=1}^{\infty} P\left( \left| \frac{G_{1n}\left(\frac{b^{i\beta}}{r}\right)}{G\left(\frac{b^{i\beta}}{r}\right)} - 1 \right| \geq \varepsilon \right).$$

(17)

$$P\left(\left|\frac{G_n(x)}{G(x)} - 1\right| > \varepsilon\right)$$

$$= P(|G_n(x) - G(x)| > \varepsilon G(x))$$

$$\leq \frac{1}{\varepsilon^2 G(x)} E|G_n(x) - G(x)|^2 \quad (xx)$$

$$E|G_n(x) - G(x)|^2 = E\left[\frac{1}{n} \sum_{i=1}^n [I(0 < Y_{i-1} < x) - G(x)]^2\right]$$

$$= \frac{1}{n^2} \sum_{i=1}^n E[I(0 < Y_{i-1} < x) - G(x)]^2$$

$$+ \frac{1}{n^2} \sum_{i=1}^n E[I(0 < Y_{i-1} < x) - G(x)][I(0 < Y_{i-1} < x) - G(x)]$$

$$= U_{1n} + U_{2n}$$

$$U_{1n} = \frac{1}{n^2} E[I(0 < Y_{i-1} < x) - G(x)]^2$$

$$= \frac{1}{n} \{E[I(0 < Y_{i-1} < x) - G(x)^2] - \frac{1}{n} G(x)\}$$

$$U_{2n} = \frac{1}{n^2} \sum_{i=1}^n \sum_{j=1}^{n-1} [E[I(0 < Y_{i-1} < x) - G(x)][I(0 < Y_{j-1} < x) - G(x)]]$$

$$E[I(0 < Y_{i-1} < x) - G(x)][I(0 < Y_{j-1} < x) - G(x)]$$

$$= E\{E[I(0 < Y_{i-1} < x) - G(x)]^2\}$$

(18)

$$\begin{aligned}
 & E [I(0 < y_{t-i} < x) | \mathcal{F}_{t-i+1}] \\
 &= P'(y_{t-i}, 0 < y_{t-i} < x | \mathcal{F}_{t-i+1}) \\
 &\leq G(x) + \|P'(y_{t-i+1}, 0 < y_{t-i} < x | \mathcal{F}_{t-i+1}) \\
 &\quad - G(x)\| \\
 &\leq G(x) + K(1 + |y_{t-i+1}|) P'' \\
 \end{aligned}$$


---


$$\begin{aligned}
 & E [I(0 < y_{t-i} < x) I(0 < y_{t-i} < x)] \\
 &\leq G^2(x) + K E [(1 + |y_{t-i+1}|) I(0 < y_{t-i} < x)] P' \\
 &\leq G^2(x) + H^* P' G(x)
 \end{aligned}$$

Thus,  $U_{2n} \leq H^* G(x) \cdot \frac{1}{n^2} \sum_{i=1}^{n-1} P' = \frac{H^* G(x)}{n}$

(xx)  $E |G_n(x) - G(x)|^2 \leq \frac{H}{n} G(x)$

Thus,  $P\left(\left|\frac{G_n(x)}{G(x)} - 1\right| > \epsilon\right) \leq \frac{H}{n \epsilon^2 G(x)}$

---


$$\|P'(x, \cdot) - P(\cdot)\| \leq K(1 + |x|) P''$$

$K$  is independent of  $x$

(19)

$$T_{\text{has}}, \quad P\left(\left|\frac{G_n\left(\frac{B}{n}\right)}{G\left(\frac{B}{n}\right)} - 1\right| > \varepsilon\right) \leq \frac{H}{n\varepsilon^2 \cdot \frac{B}{n}} = \frac{H}{\varepsilon^2 B}$$

(G(x)=x)

~~As B is large enough~~

$$P\left(\left|\frac{G_n\left(\frac{b^{iB}}{n}\right)}{G\left(\frac{b^{iB}}{n}\right)} - 1\right| > \varepsilon\right) \leq \frac{H}{n\varepsilon^2 \cdot \frac{b^{iB}}{n}} = \frac{H}{\varepsilon^2 B b^i}$$

(\*)

$$P\left(\sup_B \left| \frac{\frac{1}{n} \sum_{i=1}^n I(\text{occ}_{H_i}(x))}{G(x)} - 1 \right| > \varepsilon\right)$$

$$\leq \frac{H}{\varepsilon^2 B} + \frac{2H}{\varepsilon^2 B} \sum_{i=1}^{\infty} \frac{1}{b^i} < \varepsilon_0 \quad \text{as } B \text{ is}$$

large enough

$$\Phi_1 = \frac{\sum_{t=1}^n y_t y_{t-1} \mathbb{I}(y_t > \hat{\tau})}{\sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t > \hat{\tau})}$$

$$\hat{\tau} > \tau_0$$

$$\Phi_2 = \frac{\sum_{t=1}^n y_t y_{t-1} \mathbb{I}(y_t \leq \hat{\tau})}{\sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t \leq \hat{\tau})}$$

$$\frac{\sum_{t=1}^n y_t y_{t-1}}{\sum_{t=1}^n y_{t-1}^2} \Phi_1 - \Phi_{1,0} = \frac{\sum_{t=1}^n (y_t - \Phi_{1,0} y_{t-1}) y_{t-1} \mathbb{I}(y_t > \hat{\tau})}{\sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t > \hat{\tau})}$$

$$= \frac{\sum_{t=1}^n (\xi_t + \cancel{\Phi_{1,0} y_{t-1}} - \cancel{\Phi_{1,0} y_{t-1}}) y_{t-1} \mathbb{I}(y_t > \hat{\tau})}{\sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t > \hat{\tau})}$$

$$\sqrt{n} (\Phi_1 - \Phi_{1,0}) = \frac{\frac{1}{n} \sum_{t=1}^n y_{t-1} \xi_t \mathbb{I}(y_t > \hat{\tau})}{\frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t > \hat{\tau})}$$

$$\begin{aligned} \frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_t > \hat{\tau}) &= \frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} > \tau_0) \\ &\quad - \frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(\tau_0 < y_{t-1} < \hat{\tau}) \end{aligned}$$

$$= E y_{t-1}^2 \mathbb{I}(y_{t-1} > \tau_0) + o_p(1) - \frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(\tau_0 < y_{t-1} < \hat{\tau})$$

$$O_n \text{ the event } \left\{ \tau_0 < \hat{\tau} < \tau_0 + \frac{\beta}{n} \right\}$$

$$\frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(\tau_0 < y_{t-1} < \hat{\tau}) \leq \frac{1}{n} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(\tau_0 < y_{t-1} < \frac{\beta}{n})$$

$$P\left[\frac{1}{n} \sum_{i=1}^n y_{it}^2 I(k_0 < y_{it} \leq \frac{\beta}{\gamma}) > \varepsilon\right]$$

$$\leq \frac{n\varepsilon}{k} E y_{it}^2 I(k_0 < y_{it} \leq \frac{\beta}{\gamma}) \rightarrow 0 <$$

$$S_0. \quad \frac{1}{n} \sum_{i=1}^n y_{it}^2 I(y_{it} > \hat{\gamma}) = E y_{it}^2 I(y_{it} > k_0)$$

$$\frac{1}{\sqrt{n}} \sum_{i=1}^n y_{it} \varepsilon_{it} I(y_{it} > \hat{\gamma})$$

$$= \frac{1}{\sqrt{n}} \sum_{i=1}^n y_{it} \varepsilon_{it} I(y_{it} > k_0) - \frac{1}{\sqrt{n}} \sum_{i=1}^n y_{it} \varepsilon_{it} I(k_0 < y_{it} \leq \hat{\gamma})$$

$$O_{\text{a.t.u.}} \text{ as } \{k_0 < \hat{\gamma} < k_0 + \frac{\beta}{\gamma}\}$$

$$\frac{1}{\sqrt{n}} \sum_{i=1}^n |y_{it} \varepsilon_{it}| I(k_0 < y_{it} \leq \hat{\gamma}) \leq \frac{1}{\sqrt{n}} \sum_{i=1}^n |y_{it} \varepsilon_{it}| I(k_0 < y_{it} \leq \frac{\beta}{\gamma})$$

$$\xrightarrow{a.s.} 0$$

$$S_0 \quad \ln(\hat{\phi}_1 - \hat{\phi}_0) \xrightarrow{d} N(0, [E y_{it}^2 I(y_{it} > k_0)] \sigma^2)^{-1}$$

$$\text{Similarly } \ln(\hat{\phi}_2 - \hat{\phi}_0) \xrightarrow{d} N(0, [E y_{it}^2 I(y_{it} \leq k_0)] \sigma^2)^{-1}$$

(i)  $r_0$ 

(2)

$$L(\hat{\phi}_1, \hat{\phi}_2, \hat{\gamma}) = \sum_{t=1}^n (y_t - \hat{\phi}_1 y_{t-1})^2 \mathbb{I}(y_{t-1} > \hat{\gamma}) \mathbb{I}(y_{t-1} > r_0) \\ + \sum_{t=1}^n (y_t - \hat{\phi}_2 y_{t-1}^2) \mathbb{I}(y_{t-1} \leq \hat{\gamma}) \mathbb{I}(y_{t-1} \leq r_0) \\ + \mathbb{I}(y_{t-1} > r_0) \\ + \mathbb{I}(y_{t-1} \leq r_0)]$$

$$= \sum_{t=1}^n \left[ \sum_{t=1}^n (y_t - (\hat{\phi}_1 - \phi_{1,0}) y_{t-1})^2 \mathbb{I}(y_{t-1} > \hat{\gamma}) \right. \\ \left. + \sum_{t=1}^n \left[ \sum_{t=1}^n (y_t - (\hat{\phi}_2 - \phi_{2,0}) y_{t-1})^2 \mathbb{I}(y_{t-1} \leq \hat{\gamma}) \right. \right. \\ \left. \left. + \sum_{t=1}^n \left[ \sum_{t=1}^n (y_t - (\hat{\phi}_2 - \phi_{2,0}) y_{t-1})^2 \mathbb{I}(y_{t-1} \leq r_0) \right] \right] \right. \\ \left. + \sum_{t=1}^n \left[ \sum_{t=1}^n (y_t - (\hat{\phi}_2 - \phi_{2,0}) y_{t-1})^2 \mathbb{I}(y_{t-1} \leq r_0) \right] \right] \\ \equiv B_{1n} + B_{2n} + B_{3n}$$

$$B_{1n} = \sum_{t=1}^n \sum_{t=1}^n (y_{t-1} \hat{\gamma}) - 2(\hat{\phi}_1 - \phi_{1,0}) \sum_{t=1}^n y_{t-1} \sum_{t=1}^n (y_{t-1} > \hat{\gamma}) \\ + (\hat{\phi}_1 - \phi_{1,0})^2 \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} > \hat{\gamma}) \\ = \sum_{t=1}^n \sum_{t=1}^n (y_{t-1} \hat{\gamma}) - 2 \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \left[ \frac{1}{\sqrt{n}} \sum_{t=1}^n y_{t-1} \sum_{t=1}^n (y_{t-1} > r_0) \right. \\ \left. + \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \right] \left[ \frac{1}{\sqrt{n}} \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} > r_0) \right. \\ \left. + \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \right] \\ = \sum_{t=1}^n \sum_{t=1}^n (y_{t-1} \hat{\gamma}) - \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \left[ \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} > r_0) \right. \\ \left. + \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \right] \\ + \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \left[ \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} > r_0) \right. \\ \left. + \sqrt{n} (\hat{\phi}_1 - \phi_{1,0}) \right]$$

$$B_{2n} = \sum_{t=1}^n \sum_{t=1}^n (y_{t-1} \leq r_0) - \sqrt{n} (\hat{\phi}_2 - \phi_{2,0}) \left[ \sum_{t=1}^n y_{t-1}^2 \mathbb{I}(y_{t-1} \leq r_0) + y_{(1)} \right]$$

$$R_{2n} = \sum_{i=1}^n \sum_{k_0 < Y_{k_1} \leq i} \xi_i^2$$

$$- 2 \sum_{i=1}^n Y_{k_1} \xi_i \mathbb{I}(k_0 < Y_{k_1} \leq i) \cdot (\hat{\phi}_2 - \phi_0) \\ + \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) \cdot (\hat{\phi}_2 - \phi_0)^2 \\ = C_{1n} + C_{2n} + C_{3n}$$

$$C_{2n} = - 2 (\phi_{20} - \phi_{10}) + \sum_{i=1}^n Y_{k_1} \xi_i \mathbb{I}(k_0 < Y_{k_1} \leq i) \cdot (\hat{\phi}_2 - \phi_{20}) \\ - 2 \sqrt{n} (\hat{\phi}_2 - \phi_{2n}) \cdot \frac{1}{\sqrt{n}} \sum_{i=1}^n Y_{k_1} \xi_i \mathbb{I}(k_0 < Y_{k_1} \leq i) \\ = - 2 (\phi_{20} - \phi_{10}) \sum_{i=1}^n Y_{k_1} \xi_i \mathbb{I}(k_0 < Y_{k_1} \leq i) + o_p(1)$$

$$C_{3n} = (\phi_{20} - \phi_{10})^2 \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) \\ - 2 (\phi_{20} - \phi_{10}) (\hat{\phi}_2 - \phi_{2n}) \cdot \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) \\ + (\hat{\phi}_2 - \phi_{20})^2 \cdot \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) \\ = (\phi_{20} - \phi_{10})^2 \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) + o_p(1)$$

$$\text{Thus, } L(\hat{\phi}_1, \hat{\phi}_2, \hat{\gamma}) = \sum_{i=1}^n \xi_i^2 - \left[ \sqrt{n} (\hat{\phi}_1 - \phi_{10}) \right]^2 E Y_{k_1}^2 \mathbb{I}(Y_{k_1} \leq k_0) \\ - \left[ \sqrt{n} (\hat{\phi}_2 - \phi_{20}) \right]^2 E Y_{k_1}^2 \mathbb{I}(Y_{k_1} \leq k_0) \\ + (\phi_{20} - \phi_{10})^2 \sum_{i=1}^n Y_{k_1}^2 \mathbb{I}(k_0 < Y_{k_1} \leq i) \\ - 2 (\phi_{20} - \phi_{10}) \sum_{i=1}^n Y_{k_1} \xi_i \mathbb{I}(k_0 < Y_{k_1} \leq i) + o_p(1)$$

$$= \Delta_n + O_p(n) + \sum_{t=1}^n f_{n+1} \mathbb{I}(\phi_0 < y_{t-1} \leq \hat{y}) + O_p(n)$$

$$g_{1t} = (\phi_{20} - \phi_{10})^2 y_{t-1}^2 - 2(\phi_{20} - \phi_{10}) y_{t-1} \xi_t$$

Similarly, when  $\hat{y}_t < y_t$ , we can show that

$$L(\hat{\phi}_1, \hat{\phi}_2, \hat{y}) = \Delta_n + O_p(n) + \sum_{t=1}^n g_{2t} \mathbb{I}(\hat{y} < y_t \leq \phi_0)$$

$$g_{2t} = (\phi_{10} - \phi_{20})^2 y_{t-1}^2 - 2(\phi_{10} - \phi_{20}) y_{t-1} \xi_t$$

Derive

$$\tilde{L}(y) = \sum_{t=1}^n f_{1t} \mathbb{I}(y_0 < y_{t-1} \leq \hat{y}) + \sum_{t=1}^n f_{2t} \mathbb{I}(\hat{y} < y_{t-1} \leq y_0)$$

Then,  $\hat{y}$  is the minimizer of  $\tilde{L}(y)$ , i.e.

$$\hat{y} = \arg \min_y \tilde{L}(y)$$

Let  $\hat{u} = u(\hat{y} - y_0)$  and  $v = v(y - y_0)$ , then  $\hat{u}$  is the minimizer of

$$\begin{aligned} L^*(u) = & \sum_{t=1}^n f_{1t} \mathbb{I}(y_0 < y_{t-1} \leq y_0 + \frac{u}{n}) \\ & + \sum_{t=1}^n f_{2t} \mathbb{I}(y_0 - \frac{u}{n} < y_{t-1} \leq y_0) \end{aligned}$$

$$\hat{\mu} = \log \quad \mathcal{L}^+(u)$$

$$u \in [-\Gamma, \Gamma]$$

Given  $y_{t+1} = y_t$ ,

$$g_{1t}^* = (\phi_{20} - \phi_{10})^2 y_0^2 - 2(\phi_{20} - \phi_{10}) y_0 \sum_t \sim \bar{F}_1(x)$$

$$g_{2t}^* = (\phi_{10} - \phi_{20})^2 y_0^2 - 2(\phi_{10} - \phi_{20}) y_0 \sum_t \sim \bar{F}_2(x)$$

Define a two-side compound Poisson Process

$$P(z) = \mathbb{I}(z < 0) \sum_{i=1}^{N_1(z)} f_{1t}^* + \mathbb{I}(z \geq 0) \sum_{j=1}^{N_2(z)} f_{2t}^*$$

where  $\{N_1(z) : z \geq 0\}$  and  $\{N_2(z) : z \geq 0\}$  are two

independent Poisson Processes with  $N_1(0) = N_2(0) = 0$

and with identical jump sizes  $\lambda(y_0)$ , and  $\lambda(x)$  is

the density function of  $y_t$ ,  $\{g_{1t}^*\}$  and  $\{g_{2t}^*\}$  are  
iid and independent each other,  $g_{1t}^* \sim \bar{F}_1(x)$ ,  $g_{2t}^* \sim \bar{F}_2(x)$

We can show that

$$\mathcal{L}^+(u) \Rightarrow P(x) \text{ on } D[-\Gamma, \Gamma]$$

for any  $\Gamma > 0$ .